BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
B |IK B4 38 36 74 6.0 68.0 O
BN |EHR 2148 40 45 85 16.8 68.2 O

3 |ME = 45 43 88 19.2 68.8 O

4 |[EH KE 40 41 81 12.0 69.0 O

5 |=¥H & 40 41 81 12.0 69.0 O

6 |F;F EX 42 39 81 12.0 69.0 O

7 |WE EBL 42 51 93 24.0 69.0 @)

8 | KB R 42 38 80 10.8 69.2 O

9 |BEA XBH 48 44 92 22.8 69.2 @)
10 |B2A H®F 38 41 79 9.6 69.4 @)
11 | HE #iE 39 40 79 9.6 69.4

12 |F&F EAKEB 44 41 85 15.6 69.4

13 |MHE #Esh 49 48 97 27.6 69.4

14 |AlF & 40 44 84 14.4 69.6

15 [Bi% BX 38 39 77 7.2 69.8

16 [Bi% BX 41 42 83 13.2 69.8

17 |H)Il F1E 43 40 83 13.2 69.8

18 (Bl &% 46 49 95 25.2 69.8

19 | AK FHH 43 40 83 13.2 69.8

20 | KA B 45 43 88 18.0 70.0 O
21 |E8 BAKER 42 40 82 12.0 70.0

22 |fEH FoiE 42 40 82 12.0 70.0

23 |80 =& 41 40 81 10.8 70.2

24 |FEfFE EEA 45 48 93 22.8 70.2

25 |Ri# BT 37 38 75 4.8 70.2

26 |2l FnZE 46 47 93 228 70.2

27 | F=F 41 46 87 16.8 70.2

28 |£H —E 44 43 87 16.8 70.2

29 |iAE fRE— 41 45 86 15.6 70.4

30 |8 kg 42 38 80 9.6 70.4 O
31 |IhE RE 45 41 86 15.6 70.4

32 |EE HE 40 40 80 9.6 70.4

33 |&Iy BB 38 36 74 3.6 70.4

34 |¥ FA 39 40 79 8.4 70.6

35 AL XF 46 51 97 26.4 70.6

3 |TH R 42 43 85 14.4 70.6

37 |BAR Mz 47 44 o1 20.4 70.6

38 |HFt =EH 43 42 85 14.4 70.6

39 |hAEE = 42 43 85 14.4 70.6

40 |BFHF EX 45 39 84 13.2 70.8 O
41 |HKHE F— 45 45 90 19.2 70.8

1/17 R—=2




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
42 |®2% BhR 39 39 78 7.2 70.8
43 |dt[® BEk 41 43 84 13.2 70.8
44 |FHF OEX 38 39 77 6.0 71.0
45 |=HE =— 49 46 95 24.0 71.0
46 |BF BKER 43 40 83 12.0 71.0
47 |#K FHA 41 42 83 12.0 71.0
48 | K# BH 37 46 83 12.0 71.0
49 |EK EE 43 40 83 12.0 71.0
50 |fHEB FRiE 42 53 95 24.0 71.0
51 MR & 39 37 76 48 71.2
52 |E F1T 51 43 94 228 71.2
53 |hE HBR 45 42 87 15.6 71.4
54 |&H F=E 44 43 87 15.6 71.4
55 |ATH #HE— 49 44 93 21.6 71.4
56 |EHH At 43 44 87 15.6 71.4
57 |t ET 40 35 75 3.6 71.4
58 |&II EA 47 40 87 15.6 71.4
59 |fNE HER 46 41 87 15.6 71.4
60 |[hFE #i7 45 42 87 15.6 71.4
61 |[FH BE 44 37 81 9.6 71.4
62 |FREA 1E 42 45 87 15.6 71.4
63 |RE MBIt 39 42 81 9.6 71.4
64 |;ZH K7 47 45 92 20.4 71.6
65 |& —3=% 39 41 80 8.4 71.6
66 |FRiE FEK 43 43 86 14.4 71.6
67 |EHR &EA 37 37 74 2.4 71.6
68 |—&= BA 48 50 98 26.4 71.6
69 |fFR EH 44 36 80 8.4 71.6
70 |MBRk EE 39 41 80 8.4 71.6
7 |EXR BIL 44 42 86 14.4 71.6
72 |EM[E @5 42 38 80 8.4 71.6
73 |£Ff H— 44 47 o1 19.2 71.8
74 |&F A 42 43 85 13.2 71.8
75 |Ht 7% 55 42 97 25.2 71.8
76 |BEF =B 46 45 91 19.2 71.8
77 |Jdm FOAN 52 51 103 31.2 71.8
78 [BEX EX 40 39 79 7.2 71.8
79 |HA BT 42 37 79 7.2 71.8
80 |fA#k FOEk 39 46 85 13.2 71.8
81 |BE mH 39 40 79 7.2 71.8
82 | K4t =% 43 48 o1 19.2 71.8

2/171 R=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
83 |k HHA 46 39 85 13.2 71.8
84 |®I/E 1EM 41 43 84 12.0 72.0
85 |=F BX 38 40 78 6.0 72.0
86 |&F&F IE1T 39 39 78 6.0 72.0
87 |EE — 41 37 78 6.0 72.0
88 |:& &%k 45 45 90 18.0 72.0
89 | KA xRiE 51 45 96 24.0 72.0
90 |KB FEEE 49 41 90 18.0 72.0
91 |HF FHAE 40 44 84 12.0 72.0
92 [#hHE =EH 48 42 90 18.0 72.0
93 |(#BE B 42 41 83 10.8 72.2
94 [FE E— 46 43 89 16.8 72.2
95 |[fEE = 46 43 89 16.8 72.2
96 |[ZH BE 41 36 77 4.8 72.2
97 |HEE & 44 45 89 16.8 72.2
98 |HRE FHA 38 33 71 -1.2 72.2
9 |EE —T 44 45 89 16.8 72.2
100 [y ZEZ 44 45 89 16.8 72.2
101 |[luA BBF 47 42 89 16.8 72.2
102 |lUA BBF 42 47 89 16.8 72.2
103 |AKX 2 46 43 89 16.8 72.2
104 (A% & 42 41 83 10.8 72.2
105 |E#E =7 47 42 89 16.8 72.2
106 |KE =% 41 42 83 10.8 72.2
107 |BH IEfE 40 37 77 4.8 72.2
108 |& BE 55 51 106 33.6 72.4
109 |X¥ H— 43 45 88 15.6 72.4
110 |3k 1EFR 45 49 94 21.6 72.4
1M1 (E B 40 42 82 9.6 72.4
112 |k E 51 49 100 27.6 72.4
13 |BH# EIT 47 47 94 216 72.4
14 |5&IR HE3 50 50 100 276 72.4
115 |=[M AX 41 41 82 9.6 72.4
16 |AE B= 40 42 82 9.6 72.4
117 |RiE &7 41 41 82 9.6 72.4
118 |Fm 23, 46 48 94 216 72.4
119 |[# BBE 47 41 88 15.6 72.4
120 |5k#s BB 41 41 82 9.6 72.4
121 [#E HER 42 40 82 9.6 72.4
122 |35 BHEB 42 40 82 9.6 72.4
123 |BF #E 45 49 94 21.6 72.4

3/ 1T R=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
124 |[ZEB TX 41 47 88 15.6 72.4
125 |=%¢ BX 45 42 87 14.4 72.6
126 | TF FF 42 39 81 8.4 72.6
127 |FH FX 43 44 87 14.4 72.6
128 |/ME I 47 52 99 26.4 72.6
129 [y ERX 39 36 75 2.4 72.6
130 [hE ERX 37 38 75 2.4 72.6
131 |k tBF 47 46 93 20.4 72.6
132 |=4E tE& 40 41 81 8.4 72.6
133 |fEAK & 45 42 87 14.4 72.6
134 | R{K 7 45 42 87 14.4 72.6
135 |&FHAX & 43 44 87 14.4 72.6
136 |HE H= 43 38 81 8.4 72.6
137 Rk & 49 44 93 20.4 72.6
138 |IUH BZ 42 39 81 8.4 72.6
139 |BA =1Ri# 50 48 98 25.2 72.8
140 |F% B 49 49 98 25.2 72.8
141 |[hogk 0¥ 43 43 86 13.2 72.8
142 |@E)I| BB 47 45 92 19.2 72.8
143 |[E8 BAER 40 34 74 1.2 72.8
144 |th8F EXR 42 44 86 13.2 72.8
145 |&5H BH 43 43 86 13.2 72.8
146 |AITH ##— 47 45 92 19.2 72.8
147 |B IEE 42 44 86 13.2 72.8
148 [JEAR FE 45 41 86 13.2 72.8
149 |[BRE N3 49 49 98 25.2 72.8
150 |Z&F#H K 45 41 86 13.2 72.8
151 |[FEH kX 44 48 92 19.2 72.8
152 |&"/KRK FH 46 40 86 13.2 72.8
153 |B=A 3B 48 44 92 19.2 72.8
154 |=F BX 39 40 79 6.0 73.0
155 | KIF (& 48 49 97 24.0 73.0
156 |fnikE FOi¥F 43 42 85 12.0 73.0
157 |{&£18 1887 44 41 85 12.0 73.0
158 |BEAR =4 40 45 85 12.0 73.0
159 |k = 47 50 97 24.0 73.0
160 |f&IL YeBh 35 38 73 0.0 73.0
161 |=E &%k 44 41 85 12.0 73.0
162 |BEA =B 44 47 o1 18.0 73.0
163 |t —BB 48 49 97 24.0 73.0
164 |EH = 46 45 o1 18.0 73.0

4 /17 R—




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > b—4)L | HDCP =S =}
165 |AH FE 49 48 97 24.0 73.0
166 |EfH 1246t 39 39 78 48 73.2
167 |BAK BE 43 47 90 16.8 73.2
168 |&A KA 40 38 78 48 73.2
169 | K R 43 41 84 10.8 73.2
170 |BR B&E 49 41 90 16.8 73.2
171 |ZE& MER 40 38 78 4.8 73.2
172 I3 ZBH 41 49 90 16.8 73.2
173 [hE ERX 42 36 78 4.8 73.2
174 [T EAT 39 39 78 4.8 73.2
175 |#ELlU JEF 41 49 90 16.8 73.2
176 | KIF #E 49 41 90 16.8 73.2
177 |BAIER (&1 39 39 78 48 73.2
178 |BaIER FE1E 42 42 84 10.8 73.2
179 |[#BRKX EX 37 41 78 48 73.2
180 |E=E HH# 37 41 78 48 73.2
181 |&FI F= 39 45 84 10.8 73.2
182 [ =KX 43 47 90 16.8 73.2
183 [{EH —Xk 43 40 83 9.6 73.4
184 |F EX 42 41 83 9.6 73.4
185 |&A HK7 45 44 89 15.6 73.4
186 & —= 47 42 89 15.6 73.4
187 |[FH FEXREH 52 49 101 27.6 73.4
188 |HRE Z5BA 41 42 83 9.6 73.4
189 |# EZ 43 40 83 9.6 73.4
190 [FH EE 49 40 89 15.6 73.4
191 |¥XE FiEs 52 43 95 21.6 73.4
192 | KIE #Hsh 38 39 77 36 73.4
193 |3IfE EE 43 46 89 15.6 73.4
194 |F%Fde H— 46 43 89 15.6 73.4
195 [#E X 41 42 83 9.6 73.4
196 |FHFA 20t 50 51 101 27.6 73.4
197 |#8% = 44 44 88 14.4 73.6
198 |#8fn ZiT 48 46 94 20.4 73.6
199 [FXE 5hE 43 45 88 14.4 73.6
200 |FRZE FERER 49 45 94 20.4 73.6
201 | IE# 46 42 88 14.4 73.6
202 |EtE — 36 40 76 2.4 73.6
203 |FME {&1T 47 47 94 20.4 73.6
204 |HEE EMT 42 46 88 14.4 73.6
205 |@IE E— 47 41 88 14.4 73.6

5/171 R—=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > b—4)L | HDCP =S =}
206 |EH #H— 46 42 88 14.4 73.6
207 |{BAR & 49 45 94 20.4 736
208 |&Ek 1EAI 46 42 88 14.4 736
209 |E4H HER 40 36 76 2.4 73.6
210 |¥T1H 22— 55 51 106 32.4 73.6
211 |BRA =EA 47 47 94 20.4 73.6
212 /NI B 44 44 88 14.4 73.6
213 | HK 55 51 106 324 73.6
214 |BiE =& 44 38 82 8.4 73.6
215 |2 HH 41 41 82 8.4 73.6
216 |HRF EA 45 43 88 14.4 73.6
217 | K¥ ZE 40 36 76 24 73.6
218 |#TR ={C 44 50 94 20.4 73.6
219 |y EF 55 56 111 37.2 738
220 |{EH —%k 39 42 81 7.2 73.8
221 |HE FT 45 42 87 13.2 738
222 |FGE & 54 45 99 25.2 738
223 |{EpE M 37 38 75 1.2 738
224 |8 BF 39 42 81 7.2 738
225 (IR HHE 43 44 87 13.2 738
226 |t¥AfE 1# 40 41 81 7.2 73.8
227 |Exk B 48 45 93 19.2 738
228 |EE = 46 41 87 13.2 73.8
229 |{E&R”AK =ER 46 41 87 13.2 73.8
230 |FEE EF— 50 49 99 25.2 73.8
231 [{ZF X 42 39 81 7.2 73.8
232 |EE B 45 48 93 19.2 73.8
233 |IRE ®IIF 48 51 99 25.2 73.8
234 | K& FI=E 46 41 87 13.2 73.8
235 |th#&R SR 42 39 81 7.2 73.8
236 |&E EA 45 36 81 7.2 73.8
237 |B 2K 37 37 74 0.0 74.0
238 | R{K EAL# 41 39 80 6.0 74.0
239 |RHET {8 49 43 92 18.0 74.0
240 | KiE IE# 40 40 80 6.0 74.0
21 |EH BE 45 47 92 18.0 74.0
242 |INE R 43 43 86 12.0 74.0
243 |&XH —Ef 44 42 86 12.0 74.0
244 |BAXR = 54 44 98 24.0 74.0
245 |BA 42 38 80 6.0 74.0
246 |HH EE 43 43 86 12.0 74.0

6/17 R—




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
247 |&§H EE 38 48 86 12.0 74.0
248 |FEAKR FXk 41 39 80 6.0 74.0
249 (Rl BEX 47 45 92 18.0 74.0
250 |=F¢ BX 38 41 79 4.8 74.2
251 |/KE Z=E 42 49 91 16.8 74.2
252 |FKZE FERED 42 43 85 10.8 74.2
253 |iAlE fE— 38 41 79 4.8 74.2
254 |BEH =i 39 40 79 4.8 74.2
255 |&HA Eijh 37 42 79 48 74.2
256 (%A FE= 49 48 97 228 74.2
257 |m®®E EC 48 49 97 22.8 74.2
258 ¥y 8 FE] 47 44 91 16.8 74.2
259 |[EA & 50 47 97 22.8 74.2
260 |ERE A 42 43 85 10.8 74.2
261 |PA[Ep FEIE 39 40 79 48 74.2
262 AR ) 54 55 109 348 74.2
263 |fE)Il fE=E 45 40 85 10.8 74.2
264 |EE HH 40 39 79 48 74.2
265 |fNfR IR 49 48 97 22.8 74.2
266 |HHN EZFHK 47 50 97 22.8 74.2
267 |MAK {E& 42 37 79 4.8 74.2
268 |iiEk SHA 44 41 85 10.8 74.2
269 |{lH RIA 49 48 97 22.8 74.2
270 |B¥ T 45 52 97 22.8 74.2
2711 |BH EA 42 43 85 10.8 74.2
272 |fhlL Eh 51 52 103 28.8 74.2
273 |IUA 1ERE 43 41 84 9.6 74.4
274 |2 5K 44 40 84 9.6 74.4
275 | KAR &EA 41 43 84 9.6 74.4
276 % 1B 48 42 90 15.6 74.4
277 |EEKRK EE 50 46 96 21.6 74.4
2718 | FA 48 42 90 15.6 74.4
279 |IF BT 46 44 90 15.6 74.4
280 |EEIR A& 46 44 90 15.6 74.4
281 |ZBfk BE 44 46 90 15.6 74.4
282 |JEXR EHK 39 45 84 9.6 74.4
283 K —2 43 47 90 15.6 74.4
284 |tEHA F— 51 45 96 216 74.4
285 |BAH AEA 45 45 90 15.6 74.4
286 |lUA BAF 43 41 84 9.6 74.4
287 |BAX CHH 48 54 102 276 74.4

7/11 R=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
288 |BEA Jsh 49 41 90 15.6 74.4
289 |RE = 46 56 102 276 74.4
290 (AL ¥E 39 45 84 9.6 74.4
291 |EH iFif 50 46 96 21.6 74.4
292 |AH HEE 40 43 83 8.4 74.6
293 |fERK BT 52 49 101 26.4 74.6
294 |#4#%E SCHH 45 50 95 20.4 74.6
295 |{kpE HiE 46 43 89 14.4 74.6
296 |& Il FER 50 45 95 20.4 74.6
297 | N4 43 40 83 8.4 74.6
298 |JK#y HR 41 42 83 8.4 74.6
299 |EE HH 40 43 83 8.4 74.6
300 |®A)Il BE 50 45 95 20.4 74.6
301 |EHA =& 46 49 95 20.4 74.6
302 (&R Fth 53 48 101 26.4 74.6
303 |=1F HE 45 44 89 14.4 74.6
304 |[F%Fx IETT 41 41 82 7.2 74.8
05 |EXK &HE= 38 44 82 7.2 74.8
306 (M= MESR 44 44 88 13.2 74.8
307 |[BH KRB 43 45 88 13.2 74.8
308 |AiIH #— 48 46 94 19.2 74.8
309 |FEF {EXER 45 43 88 13.2 74.8
310 |#&EkA n— 42 40 82 7.2 74.8
311 |25 shEL 47 41 88 13.2 74.8
312 |EH M 47 47 94 19.2 74.8
313 |*EE EF 40 42 82 7.2 74.8
314 | % &SR 53 53 106 31.2 74.8
315 |{h4H =7 44 44 88 13.2 74.8
316 |#fIlL ZEh 42 46 88 13.2 74.8
317 |fF FE 48 45 93 18.0 75.0
318 % h 51 48 99 24.0 75.0
319 |# M {E8H 43 50 93 18.0 75.0
320 |HA FT&B 48 45 93 18.0 75.0
321 |B#E 8k 44 49 93 18.0 75.0
322 |AiH #— 45 48 93 18.0 75.0
323 |§EHH FE 53 46 99 24.0 75.0
324 |E EZ 42 39 81 6.0 75.0
325 [ER REE 48 51 99 24.0 75.0
326 | t1ERA 49 44 93 18.0 75.0
327 |HiE S8 46 47 93 18.0 75.0
328 |EJI| BIE 42 45 87 12.0 75.0

8/11 R—=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
329 |AWL E— 46 47 93 18.0 75.0
330 |I|RE —% 43 44 87 12.0 75.0
331 |aF 45 48 93 18.0 75.0
332 |#MEF F— 49 56 105 30.0 75.0
333 |thyy fi— 49 50 99 24.0 75.0
334 |[F FH{- 45 42 87 12.0 75.0
335 |ElE #F 48 45 93 18.0 75.0
336 [BRE #RERAK 45 47 92 16.8 75.2
337 |EM IEE 51 47 98 22.8 75.2
338 |KXH —E&f 44 42 86 10.8 75.2
339 [EF EBA 47 45 92 16.8 75.2
30 |HhE fith 44 48 92 16.8 75.2
M | —EBR 50 48 98 22.8 75.2
342 k¥ LE 43 43 86 10.8 75.2
343 |#AHA BIE 40 45 85 9.6 75.4
344 (B K 46 45 91 15.6 75.4
345 |[RH FEAE 49 42 o1 15.6 75.4
346 |fEAK BT 48 49 97 21.6 75.4
347 |BE 53 50 103 276 75.4
348 |Ek HHA 43 42 85 9.6 75.4
349 [XF BE 39 46 85 9.6 75.4
350 |l RE 49 42 91 15.6 75.4
351 |HHE XF 46 51 97 21.6 75.4
352 |KiF Mz 42 43 85 9.6 75.4
353 |FEAT FEA 44 41 85 9.6 75.4
354 |lLA #{&% 52 45 97 21.6 75.4
355 |MkH B 50 47 97 21.6 75.4
356 |EEX FN=E 49 54 103 27.6 75.4
357 |[RE JEL# 47 43 90 14.4 75.6
358 [#aL 44 46 90 14.4 75.6
359 |BsiE (EFD 41 43 84 8.4 75.6
360 |A8 B KER 43 41 84 8.4 75.6
361 |HKHE %= 43 47 90 14.4 75.6
362 |BALA % 48 42 90 14.4 75.6
363 | FHEX 48 42 90 14.4 75.6
364 |JbiL ZNAR 46 44 90 14.4 75.6
365 |[HEHY BE 53 49 102 26.4 75.6
366 |EJI| @K 53 55 108 324 75.6
367 |iBH & 40 44 84 8.4 75.6
368 | BEE 48 47 95 19.2 75.8
369 |l &k 53 48 101 25.2 75.8

9/17 R=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > b—4)L | HDCP =S =}
370 |FLIU % 57 50 107 31.2 75.8
3711 |HII {Ek 51 44 95 19.2 75.8
372 |ERH =HB 47 48 95 19.2 75.8
3713 |&BJIl FER 43 40 83 7.2 75.8
374 |ER # 52 49 101 25.2 75.8
35 |*EB TiA 44 51 95 19.2 75.8
376 |IRE & 49 46 95 19.2 75.8
377 |RIR E) 50 45 95 19.2 75.8
3718 &R ER 52 43 95 19.2 75.8
379 |1kEE {#T] 43 52 95 19.2 75.8
380 )l @& 46 49 95 19.2 75.8
381 |EA FH 58 49 107 31.2 75.8
382 |A[%y {— 44 45 89 13.2 75.8
383 |IUE #Hih 48 47 95 19.2 75.8
384 |[® ZEd[ 44 44 88 12.0 76.0
385 |F EX 35 41 76 0.0 76.0
386 |EE IEX 45 43 88 12.0 76.0
387 |{FWr {d 47 41 88 12.0 76.0
388 |[RH FE 44 44 88 12.0 76.0
389 [HHE &t 53 47 100 24.0 76.0
390 |1E kK = 49 45 94 18.0 76.0
391 |FIR B 53 47 100 24.0 76.0
392 |K{K H 44 44 88 12.0 76.0
393 =% BE 51 43 94 18.0 76.0
394 A fE— 42 40 82 6.0 76.0
395 |=&H— FX 46 48 94 18.0 76.0
396 | KT &L 43 45 88 12.0 76.0
397 |kAR =iRi# 47 46 93 16.8 76.2
398 |IRE FIR 54 57 111 348 76.2
399 [[¥y m— 48 45 93 16.8 76.2
400 |fRF $Ft 52 47 99 22.8 76.2
401 |FEZH FEF 44 43 87 10.8 76.2
402 |EN FE 45 42 87 10.8 76.2
403 |kH F=E 54 45 99 22.8 76.2
404 |k FH 43 44 87 10.8 76.2
405 |3ERE SHHA 45 42 87 10.8 76.2
406 |{EfE B 46 47 93 16.8 76.2
407 |(EF B— 47 46 93 16.8 76.2
408 |2 AmME 48 51 99 22.8 76.2
409 |/MNE FRIfE 44 42 86 9.6 76.4
410 [y HF= 48 44 92 15.6 76.4

10/ 17 R—2




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
411 [RIR #RE] 42 44 86 9.6 76.4
412 |[RIR Z2E 41 45 86 9.6 76.4
413 |k B 41 51 92 15.6 76.4
414 |IhNEFF KX 42 38 80 3.6 76.4
415 (BBl &FE 45 53 98 21.6 76.4
416 |HFT BE 48 44 92 15.6 76.4
117 B &HE 48 44 92 15.6 76.4
418 |=#t (&SR 54 44 98 216 76.4
419 |FEIE HE 42 44 86 9.6 76.4
420 |ZE R 41 39 80 3.6 76.4
421 | AR KER 53 51 104 27.6 76.4
422 (R Ef 48 50 98 21.6 76.4
423 | K% EA 50 54 104 27.6 76.4
424 | L% 45 59 104 276 76.4
425 |@EH IE 40 45 85 8.4 76.6
426 |MMFR BFHF 45 46 91 14.4 76.6
427 BB HH 47 44 91 14.4 76.6
428 |(FIL & 49 48 97 20.4 76.6
429 |KEE 15— 49 48 97 20.4 76.6
430 [T Foi= 52 45 97 20.4 76.6
431 |5 =& 51 46 97 20.4 76.6
432 |&k FH 45 46 91 14.4 76.6
433 |E F— 43 54 97 20.4 76.6
434 |thy fli— 45 40 85 8.4 76.6
435 (1EHE B 51 58 109 32.4 76.6
436 |IEFR ®E1T 50 41 91 14.4 76.6
437 (BB 47 50 97 20.4 76.6
438 |(HLE =i 46 38 84 7.2 76.8
439 |HH FE— 51 51 102 25.2 76.8
440 [EH B0 51 57 108 31.2 76.8
441 |HE FOBH 51 51 102 25.2 76.8
442 |A]¥F ENCR 49 47 96 19.2 76.8
443 |(HAH FEX 51 51 102 25.2 76.8
444 |IF T|= 44 46 90 13.2 76.8
445 |EM IE%R 48 48 96 19.2 76.8
46 |BEAH —F 47 49 96 19.2 76.8
447 |EH WA 42 42 84 7.2 76.8
448 |[INFH B 50 52 102 25.2 76.8
449 |fBEAN EE 49 47 96 19.2 76.8
450 |&ZH BE 48 54 102 25.2 76.8
451 (R EE 47 49 96 19.2 76.8

1M/17R=




BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
452 |IUK EfF 49 53 102 25.2 76.8
453 |(HE Eth 49 53 102 25.2 76.8
454 |FH FX 43 46 89 12.0 77.0
455 (MM K 50 45 95 18.0 77.0
456 |[1EFF EHKF 51 50 101 24.0 77.0
457 MLtk =LA 53 48 101 24.0 77.0
458 |[FHK H— 46 43 89 12.0 77.0
459 |FA B 50 51 101 24.0 77.0
460 (O BA 54 53 107 30.0 77.0
461 |BfE &|HE 45 44 89 12.0 77.0
462 |HIZ EX 53 42 95 18.0 77.0
463 |[INE =E 53 48 101 24.0 77.0
464 |INFRK BA— 53 47 100 22.8 77.2
465 |[MIFH IEA 43 39 82 48 77.2
466 | KA Fi& 49 45 94 16.8 77.2
467 |F1HE FE 48 40 88 10.8 77.2
468 |MF WA 47 47 94 16.8 77.2
469 (hE fith 50 50 100 22.8 77.2
470 |luAX BEF 41 41 82 4.8 77.2
471 |HME =F 43 45 88 10.8 77.2
472 | KT EtF 44 49 93 15.6 77.4
473 |EE E# 52 53 105 276 77.4
474 |in%F BWTH 51 54 105 27.6 77.4
475 |(B§O & 47 52 99 21.6 77.4
476 |[RH FEAE 43 44 87 9.6 77.4
477 =K = 44 43 87 9.6 77.4
478 (@I I& 41 46 87 9.6 77.4
479 |[BH BH 47 52 99 21.6 77.4
480 |mJIl PE4E 51 54 105 276 77.4
481 |=# EfNh 52 47 99 21.6 77.4
482 |BFA K fHB— 54 51 105 27.6 77.4
483 |&H B 47 46 93 15.6 77.4
484 [ZH 1T 51 54 105 276 77.4
485 |KEE tH— 53 46 99 21.6 77.4
486 |BAXR 1= 55 44 99 216 77.4
487 |FHFIt 49 38 87 9.6 77.4
488 |HH EE 45 48 93 15.6 77.4
489 [HE BA 43 50 93 15.6 77.4
490 BB XE 53 52 105 276 77.4
491 |FHEAKR Sk 50 49 99 216 77.4
492 |@ifL E&R 52 53 105 276 77.4
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BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
493 |EE EIE 56 49 105 27.6 77.4
494 |(bF B 49 50 99 216 77.4
495 (PR #EZ 43 44 87 9.6 77.4
496 (MO {9 48 51 99 216 77.4
497 |(1EH Bsh 47 45 92 14.4 77.6
498 |ENFg =8| 52 52 104 26.4 776
499 [FEIL BAFO 50 48 98 20.4 776
500 |Hff] R 46 46 92 14.4 776
501 |Z&E FtHH 56 54 110 32.4 776
502 |XH #®m= 47 45 92 14.4 776
503 |Jh— B 55 49 104 26.4 776
504 |fn@E BRI 42 44 86 8.4 77.6
505 |RIiEF WAL 47 50 97 19.2 77.8
506 |FHxFEF {E— 60 61 121 432 77.8
507 |K¥ FE 60 49 109 31.2 77.8
508 |HHIR B 47 50 97 19.2 77.8
509 |BEE RE& 47 56 103 25.2 77.8
510 ([ JEX 46 51 97 19.2 778
511 |ZE[R #ith 51 46 97 19.2 77.8
512 | KPA &==E 55 48 103 25.2 778
513 |25 O0F 58 45 103 25.2 778
514 |BR Ih 50 53 103 25.2 77.8
515 |[RA R{= 49 48 97 19.2 778
516 |&JIl FEES 51 51 102 24.0 78.0
517 |HE R 51 51 102 24.0 78.0
518 |KAR BB 45 51 96 18.0 78.0
519 |RHF F& 53 55 108 30.0 78.0
520 |#Ei of 57 51 108 30.0 78.0
521 |t F0#t 51 57 108 30.0 78.0
522 |HBH Wik 56 52 108 30.0 78.0
523 |FHE ZRF 54 48 102 24.0 78.0
524 |EH BB 44 51 95 16.8 78.2
525 |MTAN R— 52 49 101 228 78.2
526 |Hh¥F MR 41 42 83 48 78.2
527 |IR 46 49 95 16.8 78.2
528 |fiEH #{E 55 46 101 22.8 78.2
529 |PA[ER #EEAH 45 37 82 3.6 78.4
530 |#HE =MHER 55 57 112 336 78.4
531 | KA Fi& 45 49 94 15.6 78.4
532 |fk{h 47 47 94 15.6 78.4
533 |&ZH R 52 42 94 15.6 78.4
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BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
534 |HH Eif 56 50 106 27.6 78.4
535 (A4 JE= 44 44 88 9.6 78.4
536 |fERE ENF 54 52 106 27.6 78.4
537 |ERE BAth 46 48 94 15.6 78.4
538 [:aEy ENTH 54 51 105 26.4 78.6
539 |fitE J&EA 48 51 99 20.4 78.6
540 |{AKEE 1B 49 44 93 14.4 78.6
541 |FEAK 3ER 39 48 87 8.4 78.6
542 |HE F— 53 46 99 20.4 78.6
543 (¥ 4 49 50 99 20.4 78.6
544 |FLIL NER 56 61 117 38.4 78.6
545 |HIF E 51 48 99 20.4 78.6
546 | L =i 63 60 123 444 78.6
547 |RJE F 52 52 104 25.2 78.8
548 |Esk 1EBA 50 48 98 19.2 78.8
549 |M IEC 44 48 92 13.2 78.8
550 (& =1# 41 45 86 7.2 78.8
551 |[WA AR 45 41 86 7.2 78.8
552 |IRE sh” 54 49 103 24.0 79.0
553 |[RH XEHE 49 48 97 18.0 79.0
554 |Z{Z {HER 42 49 o1 12.0 79.0
555 |Kdt = 53 62 115 36.0 79.0
556 | K¥ {E=F 47 49 96 16.8 79.2
557 |§kH A 44 46 90 10.8 79.2
558 |EET 7S 59 55 114 348 79.2
559 |fAIER 5 65 49 114 348 79.2
560 |iEEp BEi# 45 51 96 16.8 79.2
561 |#& K BEIT 43 47 90 10.8 79.2
562 | KA®R % 56 52 108 28.8 79.2
563 |F&)I| FRER 49 52 101 216 79.4
564 [/hith Bk 50 39 89 9.6 79.4
565 |[IRE I 49 46 95 15.6 79.4
566 |fE)Il A 50 51 101 21.6 79.4
567 [K#Y [LE 38 45 83 3.6 79.4
568 |[IUEA EX 46 54 100 20.4 79.6
569 |HEH® BF 55 51 106 26.4 79.6
570 [T i 55 51 106 26.4 79.6
571 [IUF RX 52 47 99 19.2 79.8
572 |#H EB 50 49 99 19.2 79.8
573 |#9i% 57 54 111 31.2 79.8
574 |$#EH ZF 49 55 104 24.0 80.0
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BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > k—%JL | HDCP =S =}
575 |=F & 53 51 104 24.0 80.0
576 |l =35k 52 52 104 24.0 80.0
577 |IUA {58 57 46 103 22.8 80.2
578 |EE 1E# 54 48 102 21.6 80.4
579 |hE it 51 51 102 216 80.4
580 |[K{K #h 52 56 108 27.6 80.4
581 | KfE &= 47 42 89 8.4 80.6
582 |EH EA 52 49 101 20.4 80.6
583 |=#E &8l 52 49 101 20.4 80.6
584 |HF EF 61 64 125 44.4 80.6
585 |FH #hth 44 51 95 14.4 80.6
586 |{EF FNEX 50 50 100 19.2 80.8
587 |FEAR EF 54 52 106 25.2 80.8
588 |#k EFL 46 48 94 13.2 80.8
580 |&J)I| = 48 58 106 25.2 80.8
590 |fRE IF 55 57 112 31.2 80.8
591 | KEE 20T 52 48 100 19.2 80.8
592 |[f&IR HE 43 51 94 13.2 80.8
593 |EH & 50 49 99 18.0 81.0
594 |& E=BA 60 56 116 34.8 81.2
595 |fAAK 2 52 52 104 22.8 81.2
596 |FH #hth 61 55 116 34.8 81.2
597 |HE IE 59 50 109 27.6 81.4
598 |RIfF & 57 52 109 27.6 81.4
500 |EZ& FH 58 57 115 336 81.4
600 |GH EFfFi 68 59 127 45.6 81.4
601 |BHE TX 62 52 114 32.4 81.6
602 |HAZR 2 50 52 102 20.4 81.6
603 |EjHA 1#E 58 62 120 384 81.6
604 |IFkR EE 58 56 114 32.4 81.6
605 | KRAR 1EfR 57 56 113 31.2 81.8
606 |1l @K 59 53 112 30.0 82.0
607 |BRE FT 59 59 118 36.0 82.0
608 |F1H BA 58 48 106 24.0 82.0
609 |fHF FE 52 53 105 22.8 82.2
610 ||R =F 48 51 99 16.8 82.2
611 |F *F 55 55 110 27.6 82.4
612 [Tk FEA 66 56 122 39.6 82.4
613 |BH JL¥ 50 60 110 27.6 82.4
614 |FHFA 2H/H 62 60 122 39.6 82.4
615 |H1s BEHR 49 48 97 14.4 82.6
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BB 40FAE R =0T 50 avR

M~ 5A228(A) ~ 6A30B (%)

g | K & Tk 14 > b—4)L | HDCP =S =}
616 |{f€EH —A 53 62 115 32.4 82.6

617 |HA #k 56 46 102 19.2 82.8

618 [FAE IEA 65 55 120 37.2 82.8

619 | AFT ik 52 55 107 24.0 83.0

620 [FEIL 178A 48 65 113 30.0 83.0

621 |[HlfF BE 51 50 101 18.0 83.0

622 | #%th 56 56 112 28.8 83.2

623 |BlF &H 51 48 99 15.6 83.4

624 |7BE R 43 56 99 15.6 83.4

625 |HEA —= 54 51 105 21.6 83.4

626 |/NRIHEE 49 44 93 9.6 83.4

627 | E X 54 62 116 324 83.6

628 |JEER R4 54 56 110 26.4 83.6

629 |[FEFH SE5h 60 54 114 30.0 84.0

630 [fHR ZA 58 61 119 34.8 84.2

631 |8RE Ff 66 59 125 40.8 84.2

632 |HE B=xE 59 52 111 26.4 84.6

633 |18 ;&E—ER 66 56 122 37.2 84.8

634 |/\E ZHE 53 56 109 24.0 85.0

635 |RE &Ri* 64 51 115 30.0 85.0

636 |H)Il &S 65 50 115 30.0 85.0

637 | LB BT 68 70 138 52.8 85.2

638 [AlA FiE 60 60 120 34.8 85.2

639 MK = 56 57 113 27.6 85.4

640 |¥fE B —ER 63 60 123 37.2 85.8

641 |5EJIl 8k 61 58 119 32.4 86.6

642 |HME RIL 67 57 124 37.2 86.8

643 |RE &F0 64 59 123 36.0 87.0

644 |FIR =X 61 63 124 36.0 88.0

645 |JI[IEF T 61 74 135 46.8 88.2

646 |FHFHF (& 55 66 121 32.4 88.6

647 |=K #h 56 67 123 33.6 89.4

648 |LLUE 4T AKER 67 67 134 44.4 89.6

649 |FHF R 65 62 127 37.2 89.8

650 |Eff H— 65 65 130 39.6 90.4 O
651 |=xk & 66 66 132 40.8 91.2

652 |ERE AN 57 71 128 36.0 92.0
BBE |E& *F 69 68 137 420 95.0 O
BME [f1AX = 82 90 172 51.6 120.4 @)
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iS40 FER OV T5avR

M~ 5A228(A) ~ 6A30B (%)

& fi K % Tk 4 v k—#%JL | HDCP bk A
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